Rittal - The System.

Faster - better - everywhere.

Tragarmsystem CP 120

Support arm system CP 120

Systéeme a bras porteur CP 120

Draagarmsysteem CP 120

Bararmssysteem CP 120

Systema a braccio portante CP 120
Sistema de brazo soporte CP 120

HR— b 7—LIXT L CP 120

06.400

CP 6206.420
CP 6212.025
CP 6212.050
CP 6212.100
CP 6212.110

Montage- und Bedienungsanleitung
Assembly and operating instructions
Notice d’emploi et de montage
Montage- en bedieningshandleiding
Montage- och bruksanvisning
Istruzioni di montaggio
Instrucciones de montaje

ARk aH A&

- ENCLOSURES POWER DISTRIBUTION CLIMATE CONTROL IT INFRASTRUCTURE SOFTWARE & SERVIGE RITTAL -
N

CP 6212.150
CP 6212.200
CP 6212.210
CP 6212.300
CP 6212.320
CP 6212.380

CP 6212.600
CP 6212.620
CP 6212.680
CP 6212.700
CP 6212.720
CP 6212.740

CP 6212.760
CP 6212.780
CP 6212.800
CP 6212.820
CP 6212.900

=il




Drehwinkel/ 6/7
swivel mount angle

CP 6212.820

CP 6212.800

8/9

CP 6212.720 12

CP 6212.600 17

CP 6206.420 20

CP 6212.380

CP 6212.900

13

18

21

CP 6212.700

CP 6212.300

Transport/
transportation

14

19

Justage/ 6
adjustment

CP 6212.780 10 CP 6212.760 11

CP 6212.680 15 CP 6212.620 16

CP 6212.320 19 CP 6206.400 20

Es sind geeignete MaBnahmen zur stabilen und dauerhaften Befestigung des Tragarmsystems an der Montageflache zu ergreifen!

@ Please ensure that the support arm system is securely and permanently fastened to the mounting surface!

Rittal Tragarmsystem CP 120 Montageanleitung



@&

B I tb k 'tIL d 't @ Maximale ange 2500 mm bei !l Maximale Systemlange 1500 mm bei Systemen
e aS a r el Oa ca paCI y mit horizontalem Abgang am Systemstart. mit vertikalem Abgang am Systemstart.
Zulissi in Abhéngigkeit vom Maximum length 2500 mm of systems w;:lwrraéea?%?n‘:sg?ng\nt;%fts%setesmsstem start.
Per load on system with horizontal components at the system start. P Y 3
Ii‘ Systemaufbau ohne Zwischengelenk, Ii‘ Sy ffoau ohne
—- CP 6212.620 CP 6212.620

2 § 1200 1 System structure without intermediate hinge, System structure without intermediate hinge,

£ 3 P 6212.62! P 6212.62

§ 3110077 CP 6212.620 CP 6212.620

8 g 1000

i R

5 T

o g 800
=8 £ N\
EC =3 N
Bo =
Je3 g 500
ogE 2
£8o8 >< Q
2o 22 g4 N
£5%c \
ozal 20 N [2][3] systemautbau mit Zwischengelenk CP 6212.620  [2] [3] Systemautbau mit Zwischengelenk CP 6212.620
%E‘, 83 T \'/@ System structure with intermediate hinge System structure with intermediate hinge
85 ED P | ! CP 6212.620 CP 6212.620
NS 8u 500 1000 1500 2000 2500

Systemlange B (mm)/System length B (mm)

=

@ Mit geschlossenem Tragprofil
With support section solid

Mit geschlossenem oder offenem Tragprofil
With support section solid or open

@ Mit offenem Tragprofil
With support section open

B max. = 2500 mm

A max. =500 mm B max. = 1500 mm

Wand-/Bodenbefestigung, klein CP 6212.820 nicht in Verbindung mit Zwischengelenk CP 6212.620
einsetzen!

Do not use wall/base mounting CP 6212.820 together with intermediate hinge CP 6212.620!

Zwischengelenk CP 6212.620 je System
nur einmal verwenden!

Intermediate hinge CP 6212.620 only once
per system!

Zwischengelenk CP 6212.620 je System
nur einmal verwenden!

Intermediate hinge CP 6212.620 only once
per system!

SW5 SW6

250 mm CP 6212.025 @ [1] kein Gewindeschneiden! [2] Optional
500 mm CP 6212.050
1000 mm CP 6212.100 @ [] no threading! [2] optional j &
2000 mm CP 6212.200 ® [1] Pas de filetage ! [2] Facultatif | G} i
@ Kl ti,e\‘sci aplicar corte de file- [2] Opcional 885 i 5 g
@ [A] nessuna filettatura! [2] Optional S
@ [1] geen draadsnijden! [2] Optional R
@ [1] Ingen géangskarning! [2] Tillval ,%,
GOl numvmL @4y a E

Rittal Tragarmsystem CP 120 Montageanleitung 3



CP 6212.150
1000 mm CP 6212.110
2000 mm CP 6212.210

[] kein Gewindeschneiden!

[A] no threading!

[1] Pas de filetage !

[A] iNo aplicar corte de file-
tes!

[] nessuna filettatural

[A] geen draadsnijden!

[A] Ingen gangskarning! 36
51
O] acywmL 75

00e00EE

Rittal Tragarmsystem CP 120 Montageanleitung



N o — o = o o
55 § 2 8 = |8 g
R P o . o I
- iy - ] 7 - -
|| b L b M-L- I S b~
g © — - © © ©
\\\\\\\\\\ = o \ il o o o
{ = o | ) o [3)
_/ ! 1 [} % k
B / 8 —— e e} =
| / ¢ b s g
: . O Q
/ \ H N >
/ ) b | e 06
! — ) = ) ! == ) o
K 3 < - < (71 ) g 2t g
e 0 - o et | W < ©
L] o = (s} LT T g6t < o
— e a
V€ ot L0k G9ee
olo|e o o o
T & & Bls- 081/064[] 8 S o S
|| o [ st ~ @ 1= «
oo , o 8 o «° ve o
ST T IR il | N s N o 5> N
SN N U@ : ©|©|o 1 ! © © b 23 ©
ojaa| g =: o ol Y © , 7 |
H o|o|lo| = N o o VT / o
N o =| v /1 \ Vil = \ _
= & b| R S H . \ VS o \
NN ololo / e [ | {0 2 A 8 |
X x| X I - [S) i -
SO IEE g8 ; j ©
< || oo ) ; 1 I L
— =N N i
L e o)) o)) \ o))
X X i X
1S E|E|E L} 0 © < ™~
08 E|E|E [Te) © 124 ~§ S
o|o ] 19
ozk 181818 o oa
oo 952 -
- wlolo|o o 7ie o -
508 qB|S|e ® = S @
o clo|-|N ~ 9% ~ 3]
gt NMIRIR o o 2 I
=== - - -
NN N — L I 201 N
©o|o|o|© © = © N %/ ©
oloo|o o o LT g o
o|lo|o|o ) o [ T )
8| 5| R — 9 —] |
ol ol ol o w0l 3 (] N
Xl X | X | X mul.v - O
o|lo|wlo < 8%
o | N|w N 82
A &) mk i &) S &)
< | [ - < ~
clelele © : i i o =
! i ) -
gE|E|E|E ~ - = o
ololo|o T @
wio|o|o oa Q
Msik=1k=] e
- B
S 081/06F ] =3 S
2 ozt b5 ; e
- . - | ! -
N N I ! N
© © / ©
o o | o o
3] [3) ' 2 [3)
I \
5 ok — iy s |
° iy /
2 el L [
4 -7t T
| it - e P
al| o © s -
162 -
— 95¢

Rittal Tragarmsystem CP 120 Montageanleitung




SW5

SW6

CP 6212.380
CP 6212.600
CP 6212.620
CP 6212.680
CP 6212.700
CP 6212.740
CP 6212.780
CP 6212.820

System entlasten

System strain relief

Déverrouiller le systeme

Aliviar el sistema

Scaricare il sistema

Systeem ontlasten

Avlasta systemet

E| 00e000eE

VAT LOBH AR
M8 x 40
————| ————|
— / - ==
't .ﬂr M8 x 25 't M8 x 40
Mp = 30 Nm

CP 6212.300/CP 6212.600/CP 6212.620/

CP 6212.700/CP 6212.XX0

CP 6212.300/CP 6212.600/CP 6212.740/

CP 6212.XX0

CP 6212.380/CP 6212.600/CP 6212.760/

CP 6212.XX0

SW4

S

CP 6212.300
CP 6212.380

Rittal Tragarmsystem CP 120 Montageanleitung



] [Sw5 SW6

CP 6212.620
CP 6212.700
CP 6212.720
CP 6212.740
CP 6212.760

h . o
A\S 156

@ 9 O

CP 6212.820

4 x M8 x 40

@ 2 11/M10
v/ | Z

70-110
150

2 11M19/] 60 2 11/M10

35-70

Rittal Tragarmsystem CP 120 Montageanleitung 7



4 xM10 x 25

(3]

@ 13M12

o
2|
o
EE S
e 7
1—3 ©
M| v o
06 @
ml(
=3
o
[}

o / \
< i Iy
x pC e LN
o (P EGEN,
S| (il Tl
3

R RAZOR
hey .

4 xJ8.4

.__‘_. o .4/
(oo

”

RN -
\

@10 x 40

SW6

5

W

CP 6212.800

Rittal Tragarmsystem CP 120 Montageanleitung



V4 -
LA 5

pe—\ X/
N AN 2
@ v P k»‘.f A

o/.. S, 4 .\4._,&9/4.\ «

eI AW, WG
[ AN RN

\!‘. .\fl\ nuwa\‘ ft. .__
— u.“"/‘...l'. .\ 52

ez N /An\h'

__..
ol

P L iﬂ.\“ -l 4
I =y e
S

CP 6212.800

Rittal Tragarmsystem CP 120 Montageanleitung



SW6

210

CP 6212.780

Zum Verstiften/
Attachment by means of pins

4.1

max. 4 xJ 11 mm

3xM8x 16

Rittal Tragarmsystem CP 120 Montageanleitung



CP 6212.760

B

@ 13/M12
o
)
= A
g . [2xMsx 12
oA 2 x M12 x 30 Vo= TN

Rittal Tragarmsystem CP 120 Montageanleitung ihl



Mp = 20 Nm

2 13M12

N
=3
©
- N Q
\\ @ ] /
,
07 /
| @e@ \\
B e
A

Mp = 30 Nm

Mp = 20 Nm

SW6

SW5

CP 6212.720

Rittal Tragarmsystem CP 120 Montageanleitung

12



CP 6212.740

Rittal Tragarmsystem CP 120 Montageanleitung

@ 13/M12

@l

31]39.5| 625

o
=}

120

140 \_@ 13/M12

2 xM12 x 30

¢
2xM5x12

Mp =1 Nm




SW5

SW6

TX25

CP 6212.700

2xM5x12

Rittal Tragarmsystem CP 120 Montageanleitung



SW5

SW6

CP 6212.680

3xM8x16

b

Rittal Tragarmsystem CP 120 Montageanleitung




SW6

TX25

CP 6212.620

2xM5x12

Rittal Tragarmsystem CP 120 Montageanleitung



SW5 SW6 TX25

CP 6212.600 E jﬁ D%

2xM5x12

4 x

Rittal Tragarmsystem CP 120 Montageanleitung



¢

SW5

SW6

TX25

CP 6212.380

2xM5x12

Rittal Tragarmsystem CP 120 Montageanleitung



CP 6212.300

CP 6212.320

Rittal Tragarmsystem CP 120 Montageanleitung 19



SW5

CP 6206.400

CP 6212.300
CP 6212.320
CP 6212.380

SW4

SW5

o

CP 6206.420

CP 6212.300
CP 6212.320
CP 6212.380

20

Gehéause vor dem
Lésen des Klemm-
hebels festhalten.

Hold housing before
loosening the
locking handle.

Mp = 10 Nm

Optional
Begrenzung/Limiting

p—

=

Ry

Begrenzung/Limiting

Rittal Tragarmsystem CP 120 Montageanleitung




TX25

Q|26 210

|I| 2xM5x12 E

CP 6212.900 L
N SG 2372.120
LT SG 2368.000

CP 6212.380 | | 2% M5 x 12
CP 6212.600 ;

CP 6212.620
CP 6212.700
CP 6212.740

Zum Transport von vormontierten Tragarmsystemen sind geeignete TransportsicherungsmaBnahmen zu ergreifen!

Pre-assembled support arm systems must be stabilised securely and protected appropriately for transportation!

Des mesures de sécurisation au transport adéquates doivent étre prises pour le transport des systémes a bras pré-assemblés!

iHay que tomar medidas de aseguramiento de transporte apropiadas para el transporte de sistemas de brazo soporte
premontados!

Per il trasporto di sistemi di braccia portanti premontati bisognera prendere adeguate misure per la sicurezza del trasporto!

Voor het transport van vooraf gemonteerde draagarmsystemen dienen passende transportbeveiligingsmaatregelen genomen
te worden!

maste lampliga atgarder for transportsakring vidtas!

00000

EIDEH DT R— T —LVAT LERET BRIE GBI GRS HREREL TTIEEL,

Rittal Tragarmsystem CP 120 Montageanleitung 21



Notizen/Notes

22 Rittal Tragarmsystem CP 120 Montageanleitung




Notizen/Notes

Rittal Tragarmsystem CP 120 Montageanleitung

23



Rittal - The System.

Faster - better - everywhere.

m Enclosures

m Power distribution
m Climate control

m |T infrastructure

m Software & services

09.2015/D-0000-00000435 Rev.00

RITTAL GmbH & Co. KG
Postfach 1662 - D-35726 Herborn
Phone + 49(0)2772 505-0 - Fax + 49(0)2772 505-2319

E-Mail: info@rittal.de - www.rittal.de ﬂ
- ENCLOSURES POWER DISTRIBUTION CLIMATE CONTROL IT INFRASTRUCTURE SOFTWARE & SERVIGE RITTAL -




